Physics Chapter 11-12 Test Review oW Q_ﬁ,\ N,
MNE 1A repeated motion, such as that of an acrobat swinging on a trapeze, is called a ] | C .
WAL 2. Any periodic motion that is the result of a restoring force that is proportional to the displacement is
called S5 | Mf\g EQ arMonic [I|o o/\?t

(L 3. The maximum distance om the equ 11b115€'n position in a simple harmonic motion is called what?

¥\& 4. What does the period of a 31mp1e pendulum gpend on? L@V\C‘ ~H/\
s 5. What 2 thmgs does the period of

mass-spring system depend on
6. How much force Wc%d be requ1gg la slmgsi-ﬁf it can stretch 72.5 m and it has a spring constant

0f 6723 N/m? Spring force = -(spring constanf x displacement) ~

F= —(@723‘»7;7,55 =) N/

7. If the period of a pendulum is 212 séconds, how tall would the pendulum be? Period =27 VL/g

312= ()=

8. If a spring with a mass of8 98 kg is attached vertically stretches to 22.31 m, what is the spring constant?
mass X gravity = -spring constant x displacement

s I8 Q. g= =5 « Q2.3 ]
9. A mass of .98 kg is attached to a spring and is set into vibration with a period of 267 seconds. What is
the spring constant of the spring? Period = 2 Ym/k
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07= (3} <E
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10. A tuning fork produces a sound with a frequency of 2556 Hz and wavelength in air of 635 m.
What value does this give for the speed of sound in_air? Speed = frequency x wavelength

S=9%56- (,35= | —a/

11. Draw a Transverse sine wave and label the following: _ % i l{,
P a. Crest Wave /E"’Lj a0l
& b. Trough e T = W

c. Wavelength
d. Amplitude aF; :
12. Draw 2 waves, | that shows cexnstructive mterfe?rence and one that shows destructive interference.

e A4 = et e ——

. i NoOCT
Fl' L 13. Draw a standing wave. Label the node and antinode. / ; ci(,

,h y
e 14. What is the lowest possible frequency of a standing wave called? "~ fres

Lond gamen

ME 15. What is a series of frequencies of a standmg wave called?
NaviMonic Série
16. When two waves interfere with each other, there are slightly different frequencies present that cause the
listener to percewe a vagiation of loudness. What is this called?

VL 17. A whistle is blo wn and a person cannot hear the sound. After analyzing the sound, it is determined that
the person cannot heay it because it has too low of a frequency. What type of wave was created?
Infrasont ¢
VW18, Another whistle is blown and the person can’t hear the sound. After analyzing the sound, it is
determined that the person can’t hear it because it has too high of a frequency. What wave was created?

U v sonic



. Several tuning forks are set into vibration. The students are then asked to rate each tuning fork on how

high or low they perceive the sound to be. What is it they being asked to record?

(m

. A frequency shift that is the result of motlon’ﬁe’ﬁvgen ‘)Ee source of waves and the person is called what?

A C-25.
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- the-sound—wa-ves—tfave

. At 120 dB, your hearing is damaged. What is this alled"
f’ ﬁ pC( ,-‘/i
. 0dB is the softest sound heard by a human.

. While playing a guitar, the musician h ﬁ)lds the strings so that the vibration cann

. Draw a longitudinal wave and label

tward from-a-souree;-energy-is-transferred—The-rate-at-which-the-energy-is——

transferred is called what? | J\’({ NS {w/ L

W(S\/\D[O !

nga[ 0),1115 calle ﬁ )/\ P

e/
avel into the body of

intensified What is this?

QNS

is greatly

the guitar. He strums the string without ldmg it y the sound i

The vibrations that are sent through a guitar Wthll then cause the bridge of the guitar to vibrate are
called what? _
5 VV\P ' ﬂ_ﬂf] C u ,,fz’s hé’&ji

What is resonance and give 2 real world examples of resonance?

mcﬁdf\ Vibrmhorvs w ‘V\ff)\fm b(w’(gé

What does the speed of sound depend on?
% P/?t’h? Ol 0\ N {JC dJan /W\Q+E vile l

What are 3 uses o ultlasomc wave
L)H'(U&uuﬁc i\o OCaﬁ@ \/‘ P_[&QLG

What is soun,d‘?
{ b i 0L ‘I\ (D '{\/

A power output of a light bulb is 2600 W. At what distance is the light intensity of the light bulb .0012
W/m?? Intensity = Power / 4nr?
1 —  D2LOCO
9 O(J \ 2 - g 2
What is the fundamental frequency of a 2300 m long organ pipe that is closed at one end, when the

speed of sound in the pipe is 560 m/s?  f=n (v/4L)
P (g
i (4:23c0)

A flute is open at both ends. The flute is 2.45 m long. What are the first 2 harmonics of a flute when all
keys are closed, making the vibrating air column equal to the length of the flute? The speed of sound in

the flute is 360 m/s. f= n(v/2L >
e comp ssion and ralefac ion,

£= 2.
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Which of the following is the distance in gnet units from equilbrium to a crest or a trough?

Panod of the wave
Peak to peak height

@ Amplitude

- Wavelenath



